J. of Inequal. & Appl., 1999, Vol. 3, pp. 303–311 Reprints available directly from the publisher Photocopying permitted by license only

The λ -function in the Space $\mathcal{P}({}^{2}l_{2}^{2})$

YUN SUNG CHOI[†] and SUNG GUEN KIM*

Department of Mathematics, Pohang University of Science and Technology, Pohang 790-600, Korea

(Received 7 April 1997; Revised 10 August 1998)

In this note, motivated by the question 1 in (Aron and Lohman, *Pacific J. Math.* **127** (1987), 209–231), we obtain an explicit formula for the λ -function in the real space $\mathcal{P}(^2l_2^2)$. From this we see that the λ -function is continuous and attained at each point of the unit ball of $\mathcal{P}(^2l_2^2)$, the space of real-valued continuous 2-homogeneous polynomials on l_2^2 .

Keywords: Extreme point; λ -function; λ -property; Polynomial

1991 Mathematics Subject Classification: 46B20, 46E15

Given a normed space E, B_E denotes its closed unit ball, $ext(B_E)$ the set of extreme points of B_E , and S_E the closed unit sphere of E. If $x \in B_E$, a triple (e, y, λ) is said to be amenable to x if $e \in ext(B_E)$, $y \in B_E$, $0 < \lambda \le 1$, and $x = \lambda e + (1 - \lambda)y$. In this case, we define

 $\lambda(x) = \sup\{\lambda : (e, y, \lambda) \text{ is amenable to } x\}.$

E is said to have the λ -property if each $x \in B_E$ admits an amenable triple. If, in addition, $\inf\{\lambda: x \in B_E\} > 0$, then *E* is said to have the uniform λ -property. For more details about λ -property and λ -functions in Banach spaces we refer to [1,2,4,5].

^{*}Corresponding author. Research supported by POSTECH/BSRI Special Fund. Present address: KIAS, 207-43 Cheongryangri-dong, Dongdaemun-gu, Seoul 130-012, Korea. E-mail: sgkim@kias.re.kr.

[†]Research supported by KOSEF grant 961-0102-014-2, the Basic Science Research Institute Program, Ministry of Education, BSRI-N96089 and POSTECH/BSRI Special Fund.

Aron-Lohman [1] introduced the λ -function, and calculated explicitly the λ -function for the classical spaces $C_X(T)$, $l_1(X)$, $l_{\infty}(X)$ and c(X). They showed that every finite dimensional normed space has the uniform λ -property.

Choi–Kim [3] obtained an explicit formula for the norm of the real space $\mathcal{P}({}^{2}l_{2}^{2})$: Let $a, b, c \in \mathbf{R}$, $|a| \le 1$, $|b| \le 1$ and $|c| \le 2$. Suppose $P(x, y) = ax^{2} + by^{2} + cxy \in \mathcal{P}({}^{2}l_{2}^{2})$ for the real Banach space l_{2}^{2} . Then

$$||P(x, y)|| = 1$$
 if and only if $4 - c^2 = 4(|a + b| - ab)$ (*)

Using (*) we also classified the extreme points of the unit ball of $\mathcal{P}(^{2}l_{2}^{2})$: For the real Banach space l_{2}^{2} ,

$$P(x, y) = ax^{2} + by^{2} + cxy \in \text{ext}(B_{\mathcal{P}(^{2}l_{2}^{2})})$$

if and only if

$$|a| = |b| = 1 \text{ or } 0 \le |a| < 1, \ a = -b, \ 4a^2 = 4 - c^2$$
 (**)

In this note, motivated by the question 1 in [1], we obtain an explicit formula for the λ -function in the real space $\mathcal{P}({}^{2}l_{2}^{2})$ using (*) and (**). From this we see that the λ -function is continuous and attained at each point of the unit ball of $\mathcal{P}({}^{2}l_{2}^{2})$. Finally, we give an explicit formula for the norm and the λ -function in $\mathcal{P}({}^{2}l_{2}^{2})$.

LEMMA 1 Let
$$P(x, y) = ax^2 + by^2 + cxy$$
 in $\mathcal{P}(^2l_2^2)$, $||P|| \le 1$. Then
 $\lambda(ax^2 + by^2 + cxy)$
 $= \lambda(\operatorname{sign}(ab) \min\{|a|, |b|\}x^2 + \max\{|a|, |b|\}y^2 + |c|xy).$

Proof It follows from the fact that the λ -function is invariant with respect to isometries.

THEOREM 2 Let
$$P(x, y) = ax^2 + by^2 + cxy$$
 in $\mathcal{P}({}^2l_2^2), ||P|| \le 1$. Then
 $\lambda(ax^2 + by^2 + cxy) = \frac{1}{2} + \frac{1}{4} \left| |a + b| - \sqrt{(a - b)^2 + c^2} \right|.$

Therefore, the λ -function is continuous and attained at each point of $B_{\mathcal{P}(^2L^2)}$.

Proof By Lemma 1, may assume that $|a| \le |b| = b$ and $c \ge 0$. Case 1 ||P|| < 1. First, (*) shows that

$$4 - c^2 > 4(a + b) - 4ab.$$
 (1)

(A) Suppose that $P(x, y) = \lambda(x^2 + y^2) + (1 - \lambda)Q(x, y)$ for some $0 < \lambda \le 1$ and $Q \in \mathcal{P}({}^2l_2^2), ||Q|| \le 1$.

By Proposition 1.2(b) [1] we may assume ||Q|| = 1. Then

$$Q(x,y) = \left(\frac{a-\lambda}{1-\lambda}\right)x^2 + \left(\frac{b-\lambda}{1-\lambda}\right)y^2 + \left(\frac{c}{1-\lambda}\right)xy.$$

and (*) shows that

$$\left|\frac{a-\lambda}{1-\lambda}\right| \le 1, \quad \left|\frac{b-\lambda}{1-\lambda}\right| \le 1, \quad \left|\frac{c}{1-\lambda}\right| \le 2$$

and

$$4 - \left(\frac{c}{1-\lambda}\right)^2 = 4 \left|\frac{a+b-2\lambda}{1-\lambda}\right| - 4 \left(\frac{a-\lambda}{1-\lambda}\right) \left(\frac{b-\lambda}{1-\lambda}\right).$$
(2)

If $a + b - 2\lambda \ge 0$, then Eq. (2) is equivalent to $4 - c^2 = 4(a + b) - 4ab$, contrary to (1). Suppose $a + b - 2\lambda < 0$. Solving Eq. (2), we get

$$\lambda = \frac{1}{2} + \frac{1}{4} \left(|a+b| \pm \sqrt{(a-b)^2 + c^2} \right).$$

Since $\lambda \le \min\{(1+a)/2, (1+b)/2\} = (1+a)/2$, we have

$$\lambda = \frac{1}{2} + \frac{1}{4} \left(|a+b| - \sqrt{(a-b)^2 + c^2} \right).$$

It is easy to check that

$$\frac{a+b}{2} < \frac{1}{2} + \frac{1}{4} \left(|a+b| - \sqrt{(a-b)^2 + c^2} \right) \le \frac{1+a}{2}.$$

Hence

 $\sup\{\lambda: (x^2 + y^2, Q, \lambda) \text{ is amenable to } P\}$

$$= \frac{1}{2} + \frac{1}{4} \left(|a+b| - \sqrt{(a-b)^2 + c^2} \right).$$

(B) Suppose that $P(x, y) = \lambda(-x^2 - y^2) + (1 - \lambda)Q(x, y)$ for some $0 < \lambda \le 1$ and $Q \in \mathcal{P}({}^{2}l_{2}^{2}), ||Q|| = 1.$ Then

$$Q(x,y) = \left(\frac{a+\lambda}{1-\lambda}\right)x^2 + \left(\frac{b+\lambda}{1-\lambda}\right)y^2 + \left(\frac{c}{1-\lambda}\right)xy$$

and (*) shows that

$$\left|\frac{a+\lambda}{1-\lambda}\right| \le 1, \quad \left|\frac{b+\lambda}{1-\lambda}\right| \le 1, \quad \left|\frac{c}{1-\lambda}\right| \le 2$$

and

$$4 - \left(\frac{c}{1-\lambda}\right)^2 = 4\left|\frac{a+b+2\lambda}{1-\lambda}\right| - 4\left(\frac{a+\lambda}{1-\lambda}\right)\left(\frac{b+\lambda}{1-\lambda}\right).$$
 (3)

Solving Eq. (3), we get

$$\lambda = \frac{1}{2} - \frac{1}{4} \left(|a+b| \pm \sqrt{(a-b)^2 + c^2} \right).$$

Note that

$$\frac{1-b}{2} < \frac{1}{2} - \frac{1}{4} \left(|a+b| \pm \sqrt{(a-b)^2 + c^2} \right).$$

Since $\lambda \le \min\{(1-a)/2, (1-b)/2\} = (1-b)/2$, *P* does not admit an

amenable triple $(-x^2 - y^2, Q, \lambda)$. (C) Suppose that $P(x, y) = \lambda(lx^2 - ly^2 \pm 2\sqrt{1 - l^2}xy) + (1 - \lambda)Q(x, y)$ for some $0 < \lambda \le 1, -1 \le l \le 1$ and $Q \in \mathcal{P}({}^{2}l_{2}^{2}), ||Q|| = 1$.

Then

$$Q(x,y) = \left(\frac{a-\lambda l}{1-\lambda}\right)x^2 + \left(\frac{b+\lambda l}{1-\lambda}\right)y^2 + \left(\frac{c\pm 2\lambda\sqrt{1-l^2}}{1-\lambda}\right)xy$$

and (*) shows that

$$\left|\frac{a-\lambda l}{1-\lambda}\right| \le 1, \quad \left|\frac{b+\lambda l}{1-\lambda}\right| \le 1, \quad \left|\frac{c\pm 2\lambda\sqrt{1-l^2}}{1-\lambda}\right| \le 2$$

and

$$\left(\frac{c\pm 2\lambda\sqrt{1-l^2}}{1-\lambda}\right)^2 = 4\left(1-\frac{a-\lambda l}{1-\lambda}\right)\left(1-\frac{b+\lambda l}{1-\lambda}\right).$$
 (4)

Solving Eq. (4), we get

$$\lambda = \frac{4(1-a)(1-b) - c^2}{4((b-a)l + 2 - a - b \pm c\sqrt{1-l^2})}$$

Computation shows that

$$\max_{\substack{-1 \le l \le 1}} \frac{4(1-a)(1-b)-c^2}{4((b-a)l+2-a-b\pm c\sqrt{1-l^2})} = \frac{4(1-a)(1-b)-c^2}{4\min_{-1 \le l \le 1}(b-a)l+2-a-b\pm c\sqrt{1-l^2}} \quad \text{(by (1))}$$
$$= \frac{4(1-a)(1-b)-c^2}{4\left((2-a-b)-\sqrt{(a-b)^2+c^2}\right)} = \frac{1}{2} - \frac{1}{4}\left(|a+b| - \sqrt{(a-b)^2+c^2}\right)$$
at $l = (a-b)/\sqrt{(a-b)^2+c^2}$. Thus we have

$$\lambda \leq \frac{1}{2} - \frac{1}{4} \left(|a+b| - \sqrt{(a-b)^2 + c^2} \right).$$

Computation shows that *P* admits an amenable triple

$$\left(\frac{a-b}{\sqrt{(a-b)^2+c^2}}x^2 + \frac{b-a}{\sqrt{(a-b)^2+c^2}}y^2 + \frac{2|c|}{\sqrt{(a-b)^2+c^2}}xy, Q, \frac{1}{2} - \frac{1}{4}\left(|a+b| - \sqrt{(a-b)^2+c^2}\right)\right).$$

Hence

$$\sup\{\lambda: (lx^2 - ly^2 \pm 2\sqrt{1 - l^2}xy, Q, \lambda) \text{ is amenable to } P, -1 \le l \le 1\}$$
$$= \frac{1}{2} - \frac{1}{4} \left(|a + b| - \sqrt{(a - b)^2 + c^2} \right).$$

By the cases (A)-(C), we have

$$\lambda(ax^{2} + by^{2} + cxy) = \max\left\{\frac{1}{2} \pm \frac{1}{4}\left(|a + b| - \sqrt{(a - b)^{2} + c^{2}}\right)\right\}$$
$$= \frac{1}{2} \pm \frac{1}{4}\left||a + b| - \sqrt{(a - b)^{2} + c^{2}}\right|.$$

Case 2 ||P|| = 1. First, (*) shows that

$$4 - c^2 = 4(a + b) - 4ab.$$
 (5)

(A') Suppose that $P(x, y) = \lambda(x^2 + y^2) + (1 - \lambda)Q(x, y)$ for some $0 < \lambda \le 1$ and $Q \in \mathcal{P}({}^2l_2^2)$, ||Q|| = 1.

Then

$$Q(x,y) = \left(\frac{a-\lambda}{1-\lambda}\right)x^2 + \left(\frac{b-\lambda}{1-\lambda}\right)y^2 + \left(\frac{c}{1-\lambda}\right)xy$$

and (*) shows that

$$\left|\frac{a-\lambda}{1-\lambda}\right| \le 1, \quad \left|\frac{b-\lambda}{1-\lambda}\right| \le 1, \quad \left|\frac{c}{1-\lambda}\right| \le 2$$

and

$$4 - \left(\frac{c}{1-\lambda}\right)^2 = 4 \left|\frac{a+b-2\lambda}{1-\lambda}\right| - 4 \left(\frac{a-\lambda}{1-\lambda}\right) \left(\frac{b-\lambda}{1-\lambda}\right).$$
(6)

If $a + b - 2\lambda \ge 0$, then Eq. (6) is equivalent to

$$\lambda \le \min\left\{\frac{1+a}{2}, \frac{1+b}{2}, \frac{a+b}{2}\right\} = \frac{a+b}{2}.$$

If $a + b - 2\lambda < 0$, we have

$$\frac{a+b}{2} < \lambda \le \min\left\{\frac{1+a}{2}, \frac{1+b}{2}\right\} = \frac{1+a}{2}.$$

Solving Eq. (6), we get $\lambda = (a+b)/2$. Thus P does not admit an amenable triple if $a + b - 2\lambda < 0$. Hence

$$\sup\{\lambda: (x^2 + y^2, Q, \lambda) \text{ is amenable to } P\} = \frac{a+b}{2}.$$

(B') Suppose that $P(x, y) = \lambda(-x^2 - y^2) + (1 - \lambda)Q(x, y)$ for some $0 < \lambda \le 1$ and $Q \in \mathcal{P}({}^2l_2^2), ||Q|| = 1.$

Then

$$Q(x,y) = \left(\frac{a+\lambda}{1-\lambda}\right)x^2 + \left(\frac{b+\lambda}{1-\lambda}\right)y^2 + \left(\frac{c}{1-\lambda}\right)xy$$

and (*) shows that

$$\left|\frac{a+\lambda}{1-\lambda}\right| \le 1, \quad \left|\frac{b+\lambda}{1-\lambda}\right| \le 1, \quad \left|\frac{c}{1-\lambda}\right| \le 2$$

and

$$4 - \left(\frac{c}{1-\lambda}\right)^2 = 4 \left|\frac{a+b+2\lambda}{1-\lambda}\right| - 4 \left(\frac{a+\lambda}{1-\lambda}\right) \left(\frac{b+\lambda}{1-\lambda}\right).$$
(7)

Solving Eq. (7), we get

$$\lambda = 1 - \frac{a+b}{2}.$$

Hence

 $\sup\{\lambda\colon (-x^2-y^2,Q,\lambda) \text{ is amenable to } P\} = \min\left\{1-\frac{a+b}{2},\frac{1-b}{2}\right\}.$ (C') Suppose that $P(x, y) = \lambda (lx^2 - ly^2 \pm 2\sqrt{1 - l^2}xy) + (1 - \lambda)Q(x,$

y) for some
$$0 < \lambda \le 1, -1 \le l \le 1$$
 and $Q \in \mathcal{P}({}^2l_2^2), \|Q\| \le 1$

Then

$$Q(x,y) = \left(\frac{a-\lambda l}{1-\lambda}\right)x^2 + \left(\frac{b+\lambda l}{1-\lambda}\right)y^2 + \left(\frac{c\pm 2\lambda\sqrt{1-l^2}}{1-\lambda}\right)xy$$

and (*) shows that

$$\left|\frac{a-\lambda l}{1-\lambda}\right| \le 1, \quad \left|\frac{b+\lambda l}{1-\lambda}\right| \le 1, \quad \left|\frac{c\pm 2\lambda\sqrt{1-l^2}}{1-\lambda}\right| \le 2$$

and

$$\left(\frac{c\pm 2\lambda\sqrt{1-l^2}}{1-\lambda}\right)^2 = 4\left(1-\frac{a-\lambda l}{1-\lambda}\right)\left(1-\frac{b+\lambda l}{1-\lambda}\right).$$
(8)

Solving Eq. (8), we get

$$l = \frac{a-b}{2-a-b}$$
 and $\lambda \le \min\left\{\frac{1-a}{1-l}, \frac{1-b}{1+l}\right\} = 1 - \frac{a+b}{2}$.

Computation shows that *P* admits an amenable triple

$$\left(\frac{a-b}{2-a-b}x^{2}+\frac{b-a}{2-a-b}y^{2}+\frac{2|c|}{2-a-b}xy, Q, 1-\frac{a+b}{2}\right).$$

Hence

$$\sup\{\lambda : (lx^2 - ly^2 \pm 2\sqrt{1 - l^2}xy, Q, \lambda) \text{ is amenable to } P, -1 \le l \le 1\}$$
$$= 1 - \frac{a+b}{2}.$$

By the cases (A')-(C'), we have

$$\lambda(ax^{2} + by^{2} + cxy) = \max\left\{\frac{a+b}{2}, 1 - \frac{a+b}{2}\right\}$$
$$= \frac{1}{2} + \frac{1}{4}\left||a+b| - \sqrt{(a-b)^{2} + c^{2}}\right| \quad (by (5)).$$

By the cases 1 and 2, we have that

$$\lambda(ax^{2} + by^{2} + cxy) = \frac{1}{2} + \frac{1}{4} \left| |a + b| - \sqrt{(a - b)^{2} + c^{2}} \right|.$$

The above argument shows that the λ -function is continuous and attained at each point of the unit ball of $B_{\mathcal{P}(^2l_{2}^{2})}$. This completes the proof.

Note that if *E* is a finite dimensional normed space, then $x \in \text{ext}(B_E)$ if and only if $\lambda(x) = 1$. From this fact and Theorem 2, we can reclassify the extreme points of the unit ball of $\mathcal{P}({}^2l_2^2)$.

We can give an explicit relation between the norm and the λ -function in $\mathcal{P}({}^{2}l_{2}^{2})$.

THEOREM 3 Let
$$P(x, y) = ax^2 + by^2 + cxy$$
 in $\mathcal{P}({}^2l_2^2), ||P|| \le 1$. Then

$$||P|| + 2\lambda(P) = 1 + \max\left\{|a+b|, \sqrt{(a-b)^2 + c^2}\right\}.$$

Proof By Lemma 1, we may assume that $|a| \le |b| = b$ and $c \ge 0$. From the proof of Lemma 2.1 [3] we get

$$||P|| = P\left(\sqrt{\frac{1}{2} - |a-b|/2\sqrt{(a-b)^2 + c^2}}, \frac{\sqrt{\frac{1}{2} + |a-b|/2\sqrt{(a-b)^2 + c^2}}}{|a+b| + \sqrt{(a-b)^2 + c^2}}\right),$$

which concludes the proof of the theorem combining Theorem 2.

References

- R.M. Aron and R.H. Lohman, A geometric function determined by extreme points of the unit ball of a normed space, *Pacific J. Math.* 127 (1987), 209-231.
- [2] R.M. Aron, R.H. Lohman and A. Suarez, Rotundity, the C.S.R.P., and the λ-property in Banach spaces, *Proc. Amer. Math. Soc.* 111 (1991), 151–155.
- [3] Y.S. Choi and S.G. Kim, The unit ball of $\mathcal{P}({}^{2}l_{2}^{2})$, Arch. Math. (Basel) (in press).
- [4] R.H. Lohman, The λ-function in Banach spaces, Banach Space theory, Contemp. Math. 85, Amer. Math. Soc., Providence, RI (1989), 345-354.
- [5] A. Suarez, λ-property in Orlicz spaces, Bull. Acad. Polon. Sci. 37 (1989).